
HBRS
� 6.3 litre capacity

� Constructed from 1mm 304 
grade stainless steel

� �300mm shroud

� 300mm bowl diameter

� 40mm outlet – Suits PW40 & SSBW-40

� Integrated wall bracket

� Left or right tap holes on request

� Taphole position and size to be
indicated when ordering

Round Hand Basin with 300mm Shroud

Front Wall Bracket

Top Bottom

Section

Section View on A - A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

SCALE:

N.T.S

DWG NO

TITLE

HBRS

31/07/2015

28/02/2024

Stainless Steel Round Wall Mounted Hand
Basin with 300mm Shroud. 300mm Bowl 
Diameter. NTH.

  GEN TOL
.X  +/- .5mm
.XX +/- .25mm
.XXX +/- .125mm

ALL DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

Alicia

DRAWING - PART STATUSTHIRD ANGLE PROJECTION

F:\3MDesign\H\HB\HBRS\HBRS 230228.dwg

Preliminary

BF

DRAWN

APROVED BY

1 

0012
REMOVE ALL SHARP

EDGES UNLESS NOTED
OTHERWISE

SHEET

REGISTER No.

OF

REV

1

1 

Revised

3MONKEEZ OWNS THE
COPYRIGHTS TO THIS

DRAWING WHICH IS ITS'
EXCLUSIVE PROPERTY AND

WHICH IS SUPPLIED IN
CONFIDENCE AND WHICH

MUST NOT BE USED FOR ANY
PURPOSE OTHER THAN THAT
EXPRESSLY PERMITTED AND
MUST NOT BE DISCLOSED OR

PRODUCED WITHOUT
PERMISSION FROM

3MONKEEZ. THIS DRAWING
MUST BE RETURNED OR
DESTROYED WHEN THE

PURPOSE FOR WHICH IT IS
SUPPLIED HAS CEASED.

UNIT 6/24 WELLINGTON STREET
RIVERSTONE NSW 2765

P- 02 9627 6111 F- 02 9627 3111

36
0

Ø50

Ø65

R180 M5 Torx
security screws

200

21
5

245

26
0

Access
panel

360

30
0 "Z Hook"

wall
bracket

260

220

78 90
14

5
65

220

320
M8 inserts

8868
20

"Z Hook" wall bracket

12
0

300Ø 3030 n8

Section View on A - A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

SCALE:

N.T.S

DWG NO

TITLE

HBRS

31/07/2015

28/02/2024

Stainless Steel Round Wall Mounted Hand
Basin with 300mm Shroud. 300mm Bowl 
Diameter. NTH.

  GEN TOL
.X  +/- .5mm
.XX +/- .25mm
.XXX +/- .125mm

ALL DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

Alicia

DRAWING - PART STATUSTHIRD ANGLE PROJECTION

F:\3MDesign\H\HB\HBRS\HBRS 230228.dwg

Preliminary

BF

DRAWN

APROVED BY

1 

0012
REMOVE ALL SHARP

EDGES UNLESS NOTED
OTHERWISE

SHEET

REGISTER No.

OF

REV

1

1 

Revised

3MONKEEZ OWNS THE
COPYRIGHTS TO THIS

DRAWING WHICH IS ITS'
EXCLUSIVE PROPERTY AND

WHICH IS SUPPLIED IN
CONFIDENCE AND WHICH

MUST NOT BE USED FOR ANY
PURPOSE OTHER THAN THAT
EXPRESSLY PERMITTED AND
MUST NOT BE DISCLOSED OR

PRODUCED WITHOUT
PERMISSION FROM

3MONKEEZ. THIS DRAWING
MUST BE RETURNED OR
DESTROYED WHEN THE

PURPOSE FOR WHICH IT IS
SUPPLIED HAS CEASED.

UNIT 6/24 WELLINGTON STREET
RIVERSTONE NSW 2765

P- 02 9627 6111 F- 02 9627 3111

36
0

Ø50

Ø65

R180 M5 Torx 
security screws

200

21
5

245

26
0

Access
panel

360

30
0 "Z Hook"

wall
bracket

260

220

78 90
14

5
65

220

320
M8 inserts

8868
20

"Z Hook" wall bracket

12
0

300Ø 3030 n8

Section View on A - A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

SCALE:

N.T.S

DWG NO

TITLE

HBRS

31/07/2015

28/02/2024

Stainless Steel Round Wall Mounted Hand
Basin with 300mm Shroud. 300mm Bowl 
Diameter. NTH.

  GEN TOL
.X  +/- .5mm
.XX +/- .25mm
.XXX +/- .125mm

ALL DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

Alicia

DRAWING - PART STATUSTHIRD ANGLE PROJECTION

F:\3MDesign\H\HB\HBRS\HBRS 230228.dwg

Preliminary

BF

DRAWN

APROVED BY

1 

0012
REMOVE ALL SHARP

EDGES UNLESS NOTED
OTHERWISE

SHEET

REGISTER No.

OF

REV

1

1 

Revised

3MONKEEZ OWNS THE
COPYRIGHTS TO THIS

DRAWING WHICH IS ITS'
EXCLUSIVE PROPERTY AND

WHICH IS SUPPLIED IN
CONFIDENCE AND WHICH

MUST NOT BE USED FOR ANY
PURPOSE OTHER THAN THAT
EXPRESSLY PERMITTED AND
MUST NOT BE DISCLOSED OR

PRODUCED WITHOUT
PERMISSION FROM

3MONKEEZ. THIS DRAWING
MUST BE RETURNED OR
DESTROYED WHEN THE

PURPOSE FOR WHICH IT IS
SUPPLIED HAS CEASED.

UNIT 6/24 WELLINGTON STREET
RIVERSTONE NSW 2765

P- 02 9627 6111 F- 02 9627 3111

36
0

Ø50

Ø65

R180 M5 Torx
security screws

200

21
5

245

26
0

Access
panel

360

30
0 "Z Hook"

wall
bracket

260

220

78 90
14

5
65

220

320
M8 inserts

8868
20

"Z Hook" wall bracket

12
0

300Ø 3030 n8

Section View on A - A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

SCALE:

N.T.S

DWG NO

TITLE

HBRS

31/07/2015

28/02/2024

Stainless Steel Round Wall Mounted Hand
Basin with 300mm Shroud. 300mm Bowl 
Diameter. NTH.

  GEN TOL
.X  +/- .5mm
.XX +/- .25mm
.XXX +/- .125mm

ALL DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

Alicia

DRAWING - PART STATUSTHIRD ANGLE PROJECTION

F:\3MDesign\H\HB\HBRS\HBRS 230228.dwg

Preliminary

BF

DRAWN

APROVED BY

1 

0012
REMOVE ALL SHARP

EDGES UNLESS NOTED
OTHERWISE

SHEET

REGISTER No.

OF

REV

1

1 

Revised

3MONKEEZ OWNS THE
COPYRIGHTS TO THIS

DRAWING WHICH IS ITS'
EXCLUSIVE PROPERTY AND

WHICH IS SUPPLIED IN
CONFIDENCE AND WHICH

MUST NOT BE USED FOR ANY
PURPOSE OTHER THAN THAT
EXPRESSLY PERMITTED AND
MUST NOT BE DISCLOSED OR

PRODUCED WITHOUT
PERMISSION FROM

3MONKEEZ. THIS DRAWING
MUST BE RETURNED OR
DESTROYED WHEN THE

PURPOSE FOR WHICH IT IS
SUPPLIED HAS CEASED.

UNIT 6/24 WELLINGTON STREET
RIVERSTONE NSW 2765

P- 02 9627 6111 F- 02 9627 3111

36
0

Ø50

Ø65

R180 M5 Torx
security screws

200

21
5

245

26
0

Access
panel

360

30
0 "Z Hook"

wall
bracket

260

220

78 90
14

5
65

220

320
M8 inserts

8868
20

"Z Hook" wall bracket

12
0

300Ø 3030 n8

Section View on A - A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

SCALE:

N.T.S

DWG NO

TITLE

HBRS

31/07/2015

28/02/2024

Stainless Steel Round Wall Mounted Hand
Basin with 300mm Shroud. 300mm Bowl 
Diameter. NTH.

  GEN TOL
.X  +/- .5mm
.XX +/- .25mm
.XXX +/- .125mm

ALL DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

Alicia

DRAWING - PART STATUSTHIRD ANGLE PROJECTION

F:\3MDesign\H\HB\HBRS\HBRS 230228.dwg

Preliminary

BF

DRAWN

APROVED BY

1 

0012
REMOVE ALL SHARP

EDGES UNLESS NOTED
OTHERWISE

SHEET

REGISTER No.

OF

REV

1

1 

Revised

3MONKEEZ OWNS THE
COPYRIGHTS TO THIS

DRAWING WHICH IS ITS'
EXCLUSIVE PROPERTY AND

WHICH IS SUPPLIED IN
CONFIDENCE AND WHICH

MUST NOT BE USED FOR ANY
PURPOSE OTHER THAN THAT
EXPRESSLY PERMITTED AND
MUST NOT BE DISCLOSED OR

PRODUCED WITHOUT
PERMISSION FROM

3MONKEEZ. THIS DRAWING
MUST BE RETURNED OR
DESTROYED WHEN THE

PURPOSE FOR WHICH IT IS
SUPPLIED HAS CEASED.

UNIT 6/24 WELLINGTON STREET
RIVERSTONE NSW 2765

P- 02 9627 6111 F- 02 9627 3111

36
0

Ø50

Ø65

R180 M5 Torx
security screws

200

21
5

245

26
0

Access
panel

360

30
0 "Z Hook"

wall
bracket

260

220

78 90
14

5
65

220

320
M8 inserts

8868
20

"Z Hook"  wall bracket

12
0

300Ø 3030 n8

Sinks & Basins


